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Professor Marston Morse has asked the question as to what can be 
said concerning the set of centers of curvature of a plane C" curve; 
specifically how dense can this set be? The corresponding question for 
a C" curve is easily disposed of, since roughly two derivatives are 
used for the curvature leaving one derivative to work with. The diffi­
culty in the C" case may then be compared with the far greater 
pathology that a continuous curve can exhibit in contrast to a C' 
curve. However, as a corollary to our Theorem below, which is pre­
sented in the Euclidean plane where the essence of the proof can be 
observed, it follows that the centers of curvature are nowhere dense 
in the C" case, provided the parameter domain is compact. The key 
ideas are two in number; firstly the use of Jordan content, and sec­
ondly the intimate use of the geometry of the situation, i.e. the con­
cept of curvature and circle of curvature. 

THEOREM. The centers of curvature of a regular C" curve {with com-
pact parameter domain) that lie in a bounded portion of the plane, form a 
set of zero two-dimensional Jordan content. 

OUTLINE OF PROOF. Without loss of generality, we may take the 
arc length 5 as the new parameter and assume the length of the 
curve is unity. If for convenience we take the initial point at the 
origin, we may represent the curve parametrically as: 

P(s)=f(s) + i-g(s), O ^ ^ l , 

with P ( 0 ) = 0 , fGC", g G C " , ( / 'C0 ) 2 +(g '00 ) 2 =l for O^s^l. 
Let 
5(0, r) = {x+iy: \x+iy\ <r}, 

a(s) = arg P'(s), chosen as a continuous function of s, 
K(s) =a'(s) = curvature a t s, 
R(s) = I K(s) I - \ with 0"1 undefined, 
C(s) = center of curvature corresponding to P(s). 

Since K(s) is continuous o n O ^ ^ ^ l , choose N> 1 so that | K(s) \ <N 
for Ogs^g 1. Fix M and e as arbitrary numbers subject to the condi­
tions M>2 and (2N)-l>e>0. Define, for O ^ s g l , 

RM(S) = mm(R(s), 3M) with RM(s) = 3M if K(s) = 0. 

Choose ô so that 0 < ô < 1 and 
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